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NUCLEAR REACTOR THEORY

CHAPTER II
                                 HOMEWORK II SOLUTION
                                             FALL 2014-2015
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Gamma Function: 
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But:
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10.   If we take m is the neutron mass then the nuclear mass will be approximately mA. Let v( and V be the neutron and nucleus speed after the collision.
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From conservation of momentum:
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Solving for V2
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From conservation of kinetic energy:
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which may also be written as:
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Defining
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the last equation could be rewritten as:
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The quadratic formula gives:
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We reject the negative root due to the positivity of
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From the definition of x:
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d)  Yes.
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Yes, the presence of oxygen has a significant effect on the slowing down decrement.
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Data from Problem 2.4: 
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